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Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 6863407791 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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fog ot &t & 3= fawrE 2arse

1. 3T 3R G

2. TR AR D
3. 9 SR AR
4.3 AR 45

Options :

68634030801. 1
68634030802. 2
68634030803. 3
68634030804. 4

Question Number : 2 Question Id : 6863407792 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. Sg8ED
2, AHES
3. Tt
4. THHTH!

Options :

68634030805. 1
68634030806. 2
68634030807. 3
68634030808. 4

Question Number : 3 Question Id : 6863407793 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I Y U F T &7

4. %019
Options :
68634030809. 1
68634030810. 2

68634030811. 3
68634030812. 4

Question Number : 4 Question Id : 6863407794 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SR T I UTNT TR eI &1 UTH] &1 Bl YHTd UsSdl o
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3. 1&T
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Options :



68634030813. 1
68634030814. 2
68634030815. 3
68634030816. 4

Question Number : 5 Question Id : 6863407795 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YRd H el - Pel pul Ul oEq & ad &
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Options :

68634030817. 1
68634030818. 2
68634030819. 3
68634030820. 4

Question Id : 6863407790 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 6863407791 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. TP AR I

2. SEHED SR SeHE®
3. W SIR faRy
4.3 AR 7

Options :

68634030801. 1
68634030802. 2
68634030803. 3
68634030804. 4

Question Number : 2 Question Id : 6863407792 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST ¥ fo=<l vl & 82
1. Sg9ED
2. A D
3. Tt
4. UHYTS!
Options :
68634030805. 1
68634030806. 2
68634030807. 3

68634030808. 4

Question Number : 3 Question Id : 6863407793 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR 59 39 & TP 82
1. ST
2. SR
3,570

)



Options :

68634030809. 1
68634030810. 2
68634030811. 3
68634030812. 4

Question Number : 4 Question Id : 6863407794 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SR T I UTNT TR eI &1 UTH] &1 Bl YHTd UsSdl o

1. 3
2. %Y
3. llal
4. f4

Options :

68634030813. 1

68634030814. 2

68634030815. 3
68634030816. 4

Question Number : 5 Question Id : 6863407795 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YRd § Bel - Bl o (el < o fhed! &
1. HIHY

2. fafvry
3. faw’ia
4. 3ffq fafemw

Options :

68634030817. 1
68634030818. 2
68634030819. 3
68634030820. 4

Sub-Section Number : 2
Sub-Section Id : 686340249
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863407796 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68634030821. 1
68634030822. 2
68634030823. 3
68634030824. 4

Question Number : 6 Question Id : 6863407796 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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. e (ol
3. Hgad febar
4. PHE foan

Options :

68634030821. 1
68634030822. 2
68634030823. 3
68634030824. 4

Question Number : 7 Question Id : 6863407797 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634030825. 1
68634030826. 2
68634030827. 3
68634030828. 4

Question Number : 7 Question Id : 6863407797 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634030825. 1
68634030826. 2
68634030827. 3
68634030828. 4

Question Number : 8 Question Id : 6863407798 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 3MQIgH
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Options :

68634030829. 1
68634030830. 2
68634030831. 3
68634030832. 4

Question Number : 8 Question Id : 6863407798 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 3UE=
2. BT
3. %0
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Options :

68634030829. 1

68634030830. 2

68634030831. 3
68634030832. 4

Question Number : 9 Question Id : 6863407799 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634030833. 1
68634030834. 2
68634030835. 3
68634030836. 4

Question Number : 9 Question Id : 6863407799 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-2 feu T faeedl # 9 968 S9gad IR &I 94 DI
1.$HddD.B.A
2. %du B, C,D
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Options :

68634030833. 1
68634030834. 2
68634030835. 3
68634030836. 4

Question Number : 10 Question Id : 6863407800 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1R A 94Ul 8 IR
U B3 319 oR favg =
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2. faienyyg seor

3. YT ATDR

4. ffqerifad sideR

Options :

68634030837. 1
68634030838. 2
68634030839. 3
68634030840. 4

Question Number : 10 Question Id : 6863407800 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634030837. 1
68634030838. 2
68634030839. 3
68634030840. 4

Question Number : 11 Question Id : 6863407801 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634030841. 1
68634030842. 2
68634030843. 3
68634030844. 4

Question Number : 11 Question Id : 6863407801 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634030841. 1
68634030842. 2
68634030843. 3
68634030844. 4

Question Number : 12 Question Id : 6863407802 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634030845. 1
68634030846. 2
68634030847. 3
68634030848. 4

Question Number : 12 Question Id : 6863407802 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634030845. 1
68634030846. 2
68634030847. 3
68634030848. 4

Question Number : 13 Question Id : 6863407803 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If cot? 45° — sin® 45° = K sin® 30° x tan® 45° x sec2 45 dl K ®TAH %1

1.0

b
—

3. 15
4.2

Options :

68634030849. 1
68634030850. 2
68634030851. 3
68634030852. 4

Question Number : 13 Question Id : 6863407803 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If cot? 45° — sin? 45° = K sin? 30° x tan? 45° x sec? 45 QI K BT AH %’1

1.0

I
—

3:1.5
4.2

Options :

68634030849. 1
68634030850. 2
68634030851. 3
68634030852. 4

Question Number : 14 Question Id : 6863407804 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634030853. 1
68634030854. 2
68634030855. 3
68634030856. 4

Question Number : 14 Question Id : 6863407804 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634030853. 1
68634030854. 2
68634030855. 3
68634030856. 4

Question Number : 15 Question Id : 6863407805 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634030857. 1
68634030858. 2
68634030859. 3
68634030860. 4

Question Number : 15 Question Id : 6863407805 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634030857. 1
68634030858. 2
68634030859. 3
68634030860. 4

Question Number : 16 Question Id : 6863407806 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634030861. 1
68634030862. 2
68634030863. 3
68634030864. 4

Question Number : 16 Question Id : 6863407806 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. faar

2 TR
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4,41

Options :

68634030861. 1
68634030862. 2
68634030863. 3
68634030864. 4

Question Number : 17 Question Id : 6863407807 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634030865. 1
68634030866. 2
68634030867. 3
68634030868. 4

Question Number : 17 Question Id : 6863407807 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 3R 3R UigH
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Options :
68634030865. 1
68634030866. 2

68634030867. 3
68634030868. 4

Question Number : 18 Question Id : 6863407808 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR RTE
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Options :

68634030869. 1
68634030870. 2
68634030871. 3
68634030872. 4



Question Number : 18 Question Id : 6863407808 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634030869. 1
68634030870. 2
68634030871. 3
68634030872. 4

Question Number : 19 Question Id : 6863407809 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. 40
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3. 46

4. 48
Options :
68634030873. 1
68634030874. 2

68634030875. 3
68634030876. 4

Question Number : 19 Question Id : 6863407809 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634030873. 1
68634030874. 2
68634030875. 3
68634030876. 4

Question Number : 20 Question Id : 6863407810 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634030877. 1
68634030878. 2
68634030879. 3
68634030880. 4

Question Number : 20 Question Id : 6863407810 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&1 1% S 1 ¥ W 0 {d B
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Options :

68634030877. 1
68634030878. 2
68634030879. 3
68634030880. 4

Question Number : 21 Question Id : 6863407811 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



forg wigen RISt 7. 65 df TPy FHe-arsh A= 2022 1Al R e § @l ygs Sian
1. GEp i &
2. feon dl. wg

3. T HIaR

-

4. Ren @ia=
Options :
68634030881. 1
68634030882. 2

68634030883. 3
68634030884. 4

Question Number : 21 Question Id : 6863407811 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
forg wigen RISt 7. 65 df TPy FHe-arsh A= 2022 1Al R e § @l ygs Sian

1. GEp i &

2. feam &t wg

T UTaR

-

%]

4. e TimaH

Options :

68634030881. 1
68634030882. 2
68634030883. 3
68634030884. 4

Question Number : 22 Question Id : 6863407812 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=il 1 1 gt 11 ¥ [ oife

I 1T
(WA & e Uew o) &)
A. [oare gt 1. [camgH fage
B. |aiieia el 11 [=ifd
C. [ddezmm IS 111 |41 a9
D. [geeIviE 92 IV, [3ed
fFafafad faeedl & O U8l Sav &1 994 Difo

1. A-IL. B-IV. C-1, D-1I1
2. A-IV. B-II. C-1. D-III
3. A-IL B-IV. C-II1, D-I
4. A-IIL B-IV. C-I. D-II

Options :

68634030885. 1
68634030886. 2
68634030887. 3
68634030888. 4

Question Number : 22 Question Id : 6863407812 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et 1 1 gt 11 9 e Sifey

I = 1T

(YRE ¥ Fae Tew fae &)

A [ Tandl 1 [TommE o
B. |iiiia sl 1L [emifd
C. [d@equ ImewH 1L [+ifge famm
D. [gseIvEd g53R IV. |31
Frafafad faeel & 9 96l 3 &1 994 ST

1. A-IL. B-IV. C-1. D-II1
2. A-IV. B-II. C-1. D-III
3. A-IL B-IV. C-II1, D-I
4. A-IIL B-IV. C-I. D-II
Options :
68634030885. 1

68634030886. 2
68634030887. 3



68634030888. 4

Question Number : 23 Question Id : 6863407813 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P TH.UH. A . (MSME ) [REPR 2022 BT UYH [REPR faeidl HI- 26T U1
1. MY

 3fifsan

3. T[oRTd
4, 3R WS

Options :

68634030889. 1
68634030890. 2
68634030891. 3
68634030892. 4

[ ]

Question Number : 23 Question Id : 6863407813 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P TH.UE.UH.E, (MSME ) [REPR 2022 T HYH JREHR faoidl SI- 26T Y17
1. 3
2. fifsam

3. ORI
4, TR UST

Options :

68634030889. 1
68634030890. 2
68634030891. 3
68634030892. 4

o

Question Number : 24 Question Id : 6863407814 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R s

HYF 1 : 59 4 YHT $ =07 (o) & 9 g1 oRd! & 79 98 9id i | fauiiig g1 okt . 7%
UfgeT YT B YR Head gl

FYTII: TF1 D1 gal 8 G5 & IREUY & SR §54-Y &1 FE0 gl gl

SWRIdd BYF & 3faid §, 4= f3u 70 fawedl & 9 981 SR &1 99 Difw:
1. PUYFI AR I &HI § §

HYA IR 11 T R €

3 PUT I e, AT YT HTT B

| )

A, PYTI 3T e, AT Ty 9@ e

Options :

68634030893. 1
68634030894. 2
68634030895. 3
68634030896. 4

Question Number : 24 Question Id : 6863407814 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s R e

BYF 1 : 99 4 THT B fvor (o) F G = ToRel € 76 g8 9 3 § Ay g1 okt €. 18
qREeT UHTY &1 IRET HEa Bl

YA I : T $1 gal T UDI & IREYU & HRUN 354N 1 HAT0 8 |
SWRIdd BYF & 3fald H, A1 4T 70 fawel H ¥ Fel SR &1 99 Sifow:
1. FE RIS TAE
2. BYT1 AR 11 T 3R B
3. YA 1 9 . il U 1T 3 §

A PYT I HII L. AP T YT I T &

Options :

68634030893. 1
68634030894. 2
68634030895. 3
68634030896. 4



Question Number : 25 Question Id : 6863407815 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIRI (ISRO) §RI 1379 39 & diF 3UUE Yhaarda® PSLV-C53 P 1Y Siaie Fal d Ul 707

1. Tgad ey 3HRST (Y TH Q)
SRR

3. SiToiet

4, T

Options :

68634030897. 1
68634030898. 2
68634030899. 3
68634030900. 4

[ ]

Question Number : 25 Question Id : 6863407815 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST (ISRO) GRI 16 &% & ol 3Y¥e UBadigd® PSLV-C33 & 1Y Siaie Hafl d 9ol 707
1. G Iy 3RS (G UI )
R
3. geiid
4, T
Options :
68634030897 1
68634030898. 2

68634030899. 3
68634030900. 4

[ ]

Part B: Computer Science and Information Technology

Section Id : 686340156
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Sub-Section Number : 1



Sub-Section Id : 686340250
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 26 Question Id : 6863407816 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
. |Dog : Rabies - Mosquito : I |Bacteria
I Amnesia - Memory - Paralysis - | 11, [Liver
Meningitis : Brain - Cirrhosis ¢ | III [Movement
. Influenza : Virus - Typhoid : IV. Malaria

o [l foe] g

Choose the correct answer from the options given below:
1. A-Il, B-III, C-1, D-IV
2. A-IIL, B-1IV, C-1I, D-1
3. A-IV, B-III, C-II, D-I

4. A-IV, B-1II, C-I, D-II

Options :

68634030901. 1
68634030902. 2
68634030903. 3
68634030904. 4

Question Number : 26 Question Id : 6863407816 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gl 11 gl 1 Y A Sifoy

T T T 11
: W;W::W E Gﬂfﬂ'ﬂl
EIEF{!?IE‘FG:H%::U&WH IL [@fd
ORaSH1E Y- O RRIT| 1. [gae

. [5AUST g - TsmiEs V. [gaidl

[gieRad [deel 4 9 98] 3R &1 994 DI :

1. A-II, B-III, C-1, D-IV

ol Nl loel b=

(]

- A-IITL B-TV, C-I1L. D-1
3. A-IV, B-III, C-II, D-I
4. A-IV, B-11II, C-I, D-1II

Options :

68634030901. 1
68634030902. 2
68634030903. 3
68634030904. 4

Question Number : 27 Question Id : 6863407817 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IfA, B and C are acute positive angles such that A+ B + C =m and cot Acot B cot c =K,
then

I
4. K>—
3
Options :
68634030905. 1
68634030906. 2

68634030907. 3
68634030908. 4



Question Number : 27 Question Id : 6863407817 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3R A, B 3R C YHRIH A DIV Y UHR I ¢ 96l A+ B+ C =7 3R cot Acot B
cotc=K, dd

Options :

68634030905. 1
68634030906. 2
68634030907. 3
68634030908. 4

Question Number : 28 Question Id : 6863407818 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The two adjacent sides of a cyclic QUADRILATERAL are 2 and 5 and the angle between
them 1s 60°. If the third side is 3, the remaining fourth side 1s -

1.2

b2

3

L]

4
4.5

Options :

68634030909. 1
68634030910. 2
68634030911. 3
68634030912. 4

Question Number : 28 Question Id : 6863407818 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U Afchd AGHS b &l S YSIU 2 3R 5 &, TUT 39 did Pl DIV 60° ¢ | 3R da
STl 3 & ol &t g2 el Yy &-

1.

2

2.3
3.4

4.5

Options :

68634030909. 1
68634030910. 2
68634030911. 3
68634030912. 4

Question Number : 29 Question Id : 6863407819 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The top of a hill observed from the top and bottom of a building of height h is at angles of
elevation p and q respectively. The height of the hill is -

hcotg
coteg —cot p

hcot p

]

cot p—cotg

htan p
fan p — tang

hsec p
tan p — tang

Options :

68634030913. 1
68634030914. 2
68634030915. 3
68634030916. 4

Question Number : 29 Question Id : 6863407819 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



s UgTsl & XY bl fbdil h $H1g o Had o R 3R qel ¥ SrdediebT fdbal wirell @ dl
D[ 379G HIUI HHTL: p AR q | UelSl Bl SHdls o

hcoty

" cotg—cotp

hcot p
" cot p—cotg

htan p
T tanp - tang

hsecp
" tanp—tang

Options :

68634030913. 1
68634030914. 2
68634030915. 3
68634030916. 4

Question Number : 30 Question Id : 6863407820 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : If the roots of the quadratic equation x-

least value of @ 1s 1/81.

—4x —logza =0 are real. then the

Statement II : The harmonic mean of the roots of the equation (s+v2)x® -4 +5)x+(8+2J5)=0 1S
P,

P

In the light of the above statements, choose the correct answer from the options given
below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3, Statement I is true but Statement II is false

4. Statement I is false but Statement II is true

Options :

68634030917. 1
68634030918. 2
68634030919. 3



68634030920. 4

Question Number : 30 Question Id : 6863407820 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i gl HYH feU W E:

FUT I: 3R TGHIfdd THdR0 2 — 4 — logza =0 & W dRAId ¢ dl a Bl Y4 BH
A 1/81 B

DY 1L THBIT (54 1/2)x2 — (4 +5)x + (8 +2+/5) =0 P HAl BT 3IdHel AIH 2 ¢
SWRId HYF & 3Teid H, i< ST T f[dhedi § F a8 Iuga I D1 9 Sy
1. Y1 3R B IS Fgl B
2. BUF 1 3R HUF M EA! Tgl el o
3. HYUT 1 G . dfch1 YU 11 7d ¢
4. 6411 Ye! -Tg! . dfb1 bU- 11 Hel g |

Options :

68634030917. 1
68634030918. 2
68634030919. 3
68634030920. 4

Question Number : 31 Question Id : 6863407821 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The mean deviation from the mean of the AP a,. a+d,a +2d, .... a + 2nd is

1. nin+Dd

min+1d
2n+1

I~

a

4 nin—1)d

2n+1

Options :

68634030921. 1
68634030922. 2
68634030923. 3



68634030924. 4

Question Number : 31 Question Id : 6863407821 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a.a+d.a+2d, ... a+2nd GHIGR 40T (AP ) & HI BT A fa=e g

1. nin+d

i+ 1d

]

2n+1

.

4 E.{..”_IE

2n+1

Options :

68634030921. 1
68634030922. 2
68634030923. 3
68634030924. 4

Question Number : 32 Question Id : 6863407822 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST 1 LISTII
P(ENP(A!EI

B - peE Ay=—"0TAED g

A |Addition Theorem on probability| T z P(ENP(A! Ei)
=l

B. Binomial distribution I |PAnBY= PLAYVPB/ A) il P(A) =0
C. [Baye's rule L |P(AU BY=P(A)+ P{A)+ P(B)— P(An B)
D. [Multiplication theorem on prob | IV |P(x =r) =" Crp'"qn"',p- =k Loen

Choose the correct answer from the options given below:

1. A-IIL, B-1V, C-1, D-II

b~

. A-IIL B-1V, C-I1, D-1

(%]

. A-III, B-II, C-1V, D-1
4. A-IIIL B-1, C-IV, D-1II

Options :
68634030925. 1



68634030926. 2
68634030927. 3
68634030928. 4

Question Number : 32 Question Id : 6863407822 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=T 11 =1 1 Y A Sifog

il i
o P(Ei| A)= "P”"”PH" 20 Li=12
A M ST UHET | L > P(Ei)P(A/ Ei)
1=l
B. |fgus faawm IL [P(A~B)= P(AYP(B/ A).if P(A)#0
C. |50 @1 =34 0L |[P(A B) = P(A)+ P(A)+ P(B) - (AN B)
D. [HIR¥adl &1 A0 UEg| IV |P(x =) ="C,p"¢" " r=0,1,....:

frafeRad faemedl | O Ugl 3R & 99 Hifoig -

1. A-IIL, B-1V, C-1, D-1I

[

. A-ITL B-1V, C-I1, D-1

L]

CA-IIL B-I1, C-IV, D-1
4. A-1II, B-1, C-1V, D-II

Options :

68634030925. 1
68634030926. 2
68634030927. 3
68634030928. 4

Question Number : 33 Question Id : 6863407823 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is lebelled as Assertion A and the other is labelled
as Reason R.

Assertion A : If the A.M. and G.M. between two numbers are in the ratio m : n, then the
numbers are in the ratio ;4?2 — a2 -2 -2

Reason R : If each term of a G.P. be raised to the same power, the resulting sequence also
forms a G.P.

In the light of the above statements, choose the correct answer from the options given
below :

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. Ais true but R 1s false

4. A 1s false but R is true

Options :

68634030929. 1
68634030930. 2
68634030931. 3
68634030932. 4

Question Number : 33 Question Id : 6863407823 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I &l $Y fGU U g, gﬁ SITHHUT (Assertion A) P ¥ H feiRad g ol TR 39D
D RUT (Reason R)$ Rt

HIUBHUAA: 3R &l YBT3 & FHIAR AT ( A.M.)3HR TOIR 71 ( G.M.) m:n
SEHBI AIBN ) [ _ 2 [ — 2 30T # Bl B

HRUT R: 3R IR H0fl & YAP Uel BT A °1d 9 9¢1 a1 Su df aRkomH A
H UTR H0ft ST

JQRIFI HYA & 3Teid H, = ST 7T fdhedl § F a9 Iugad IR I 94 Diforg
R R 2 9§ 3R R, A P Uel R §

SRR &I Hel § 3R R, A Bl Hgl URH gl g

ARl ¢ Afd R TSI el §

AT Tel T AfPTR ! ©

Options :

68634030929. 1
68634030930. 2
68634030931. 3
68634030932. 4

—_

b2

L]

£

Question Number : 34 Question Id : 6863407824 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let E be the ellipse §+ _‘I, 1 and C be the circle »? . ;2 =9. Let P and Q be the points (1, 2)

and (2, 1) respectively. Then
1. Q lies inside C but outside E
2. Q lies outside both C and E
3. P lies inside both C and E

4. P lies inside C but outside E

Options :

68634030933. 1
68634030934. 2
68634030935. 3
68634030936. 4



Question Number : 34 Question Id : 6863407824 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IWﬂEEﬁaﬁﬁi§+§_{%ﬁﬁCﬁ$§ﬁxhﬁ=qHWﬂPﬁNQﬁmWﬁE{L2}
AR (2. 1) T 79

1.Q.C P 3 clfp- E & dlgx gl g

2.Q.C 3R E &l & g Edl 6|
3.P.C IREaH & X Igdl ol
4.P,C P 3faX dichd E P dige Iedl ¢

Options :

68634030933. 1
68634030934. 2
68634030935. 3
68634030936. 4

Question Number : 35 Question Id : 6863407825 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a Chord which is normal to the parabola y* = 4ax at one end subtends a right angle at
the vertex, then its slope is -

Options :

68634030937. 1
68634030938. 2
68634030939. 3
68634030940. 4

Question Number : 35 Question Id : 6863407825 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HHT U Sld] IRATT 12 = dax d Uh B8R R d & 3R Y IR HBI0 a4l ¢ dl
2Y®] ald o

()

b
[ary

4.2

Options :

68634030937. 1
68634030938. 2
68634030939. 3
68634030940. 4

Question Number : 36 Question Id : 6863407826 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A straight line has equation y = —x + 6 which of the following line is parallel to it?

N

t

o s - S

I3

—3xp=3p+T=0

B2y =—x 412

Options :

68634030941. 1
68634030942. 2
68634030943. 3
68634030944. 4

Question Number : 36 Question Id : 6863407826 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U R Y@ BT HIDPRU 8 v = —x + 6 dl 99 F I DA a1 395 GIHRR 62

1. 2y+3x =5

2. 3x-3y+T=0
3.2v=—x+12
4 gy

Options :

68634030941. 1
68634030942. 2
68634030943. 3
68634030944. 4

Question Number : 37 Question Id : 6863407827 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
sinx
. sinx )} X —sinx
i 1m : 3
A [Value of Pl 3 o 1|
. _ rsinfdr
B. [Value of |l!‘11f g IL |o
X ,”E] x°
1
C. [Value of lim(eh —I—.?{)" 15 I |1
Tl
. log(x—a)
D. [Value lll'“f of IV, |1
kil Iog(e = ] ]

Choose the correct answer from the options given below:

1. A-II, B-1II, C-1, D-1IV

2

. A-IL, B-1V, C-1I1, D-1

L]

cA-TIV, B-II, C-1I1, D-I
4. A-1IV, B-11, C-1, D-III

Options :



68634030945. 1
68634030946. 2
68634030947. 3
68634030948. 4

Question Number : 37 Question Id : 6863407827 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=T 11 =1 1 Y A Sifog

= 1 q= 11
sinx
. (sinx ) x—sinx
Ao | L) PIAMG 1 |3
B [tim [2° H1am 2 1 o
X ’”l] ¥
|
¢ |;m(€1x+x]x$ﬁﬁ:{% 1L i
x=-a()
. loglx—a
D. lln‘l# HAAE ol S
>a Iog(e —e ]

fFafafad [dedl @ 4 gg! 39 &1 984 Hifve -

1. A-IL, B-IIL, C-I, D-IV

-2

.A-IL B-IV, C-1I1, D-1

fad

. A-IV, B-1I, C-1I1, D-I
4. A-IV, B-II, C-1, D-III

Options :

68634030945. 1
68634030946. 2
68634030947. 3
68634030948. 4

Question Number : 38 Question Id : 6863407828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII

4 3
tan™ =

The angle between the straight lines, 2+ I

3y — Ty =01s

B. The circles ©* —}F: +x+v=0 and ¥ —;—2 I

H x —v= () interesct at anagle
The area of circle centred at (1, 2) and 11 b
passing through (4, 6) 1s i

o T

D The paraboias 5'2 = 4y and x% = w ko
12y intersect at point {16_8) at angle

Choose the correct answer from the options given below:

1. A-IV, B-III, C-1, D-II

(]

. A-IV, B-III, C-II, D-I

Lo

. A-IIL, B-1V, C-II, D-1
4. A-IIL, B-1V, C-1, D-II

Options :

68634030949. 1
68634030950. 2
68634030951. 3
68634030952. 4

Question Number : 38 Question Id : 6863407828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=T 11 =1 1 Y A Sifog

a1 T 1
wi@ﬁ_gﬁ-&g-?w:ﬂ% ElEE -1 3
&[S . » L [tan  —
?ﬁﬂT%’ 5
—1‘+r*1—03‘ﬂ—{x +35 tx—y o
8.E e s i
T 9 ol (1. 2) R Dlad & AR (4.6) T
& o i 0L o4
b, [FRETE P =4 IR =3 g 68 [ |,
REM R BE I

frafefad faemal § 9 98t 3w &1 94 Sifee -

1. A-IV. B-IIL C-I, D-TI
2. A-IV. B-IIL C-II. D-1
3. A-TIL, B-IV. C-II. D-1
4. A-III, B-IV, C-1, D-II

Options :

68634030949. 1

68634030950. 2

68634030951. 3
68634030952. 4

Question Number : 39 Question Id : 6863407829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
|8 281 6407 I 290
182 :7 - 210 - 380 II. |132
42 =56 -110:7 IIT. 342
48122 21687 | IV |625

o [l foe] g

Choose the correct answer from the options given below:

1. A-lI, B-1, C-IV, D-III

]

-A-IL B-I1, C-I, D-IV

L]

A-IL B-1IL, C-1V, D-1
4. A-1IV, B-1IL. C-II, D-I

Options :

68634030953. 1
68634030954. 2
68634030955. 3
68634030956. 4

Question Number : 39 Question Id : 6863407829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 11 gl 11 9 faar &g
T I T I

B R B T I 290
182 :7 2103801 IT. |1
47 5611027 1.3
.B8:122:: 1687 | IV |6

fFafafad fdedl 3 4 Ue! 3T &1 9894 Hifoie -

. A-II, B-1, C-1V, D-1III

o] o] f=o] g

[ [ =y R
[ )

rm—

-2

. A-IL B-IL C-I D-IV

fad

. A-II, B-III, C-1V, D-1
4. A-IV, B-III, C-II. D-I

Options :

68634030953. 1
68634030954. 2
68634030955. 3



68634030956. 4

Question Number : 40 Question Id : 6863407830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is lebelled as Assertion A and the other is labelled
as Reason R.

Assertion A : An elevator starts with m passengers and stops at » floors (m < n). The

probability that no two passengers alight at the same floor is —Pu

i

Reason R : If (n + 1) p is an integer. say m, then P (x = ») ="C, P9 (1 — p)*© is maximum
whenr=morr=m-1

In the light of the above statements, choose the most appropriate answer from the options
given below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. A s correct but R is not correct

4. A is not correct but R is correct

Options :

68634030957. 1
68634030958. 2
68634030959. 3
68634030960. 4

Question Number : 40 Question Id : 6863407830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A &l Py fGU U g, ? SIfHHUT (Assertion A) P ¥ H feiRad & ol TR ITD
D RUT (Reason R)$ 4

W%WA:WWWW%WH%@T‘W%Gaqnadﬂw'bdldri%(\ﬂﬁfmgn) l
Wwwﬁm%%ﬁaﬂﬁaﬁuﬁw%%i

HRUR: TS (n+ 1) p U YUIfeb &, HIFT q P (x = 1) ="C,. P2 (1 — p)2 3HfUbdH &
old r=m Ul r=m-1I

SWRIFT DY & 3Telld H, =i ST T f[dhedi & F T IUgdd IR T 99 DIfU
1. A 3R R Gl gl ¢ 3R R, A Dl Hel IRAl &

2. A 3R R ST T & AR R, A B Tt oarem e §

3. AYEl ¢ Afd R W6l el ©

1. Al T8l g AlPIR Ul

Options :

68634030957. 1
68634030958. 2
68634030959. 3
68634030960. 4

Question Number : 41 Question Id : 6863407831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the adjoining diagram : What is the minimum number of different colours
required to paint the figure such that no two adjacent regions have same colour?

TR
1.3
2.4
3.5
4.6
Options :
68634030961. 1
68634030962. 2

68634030963. 3
68634030964. 4

Question Number : 41 Question Id : 6863407831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e 1 W & o8 =g fda= WebR & 1 i S1ovd il dfd &l Jay & &1 gar
&1 =gl fearong 2

N
TNt
&)

4.6

Options :

68634030961. 1
68634030962. 2
68634030963. 3
68634030964. 4

Question Number : 42 Question Id : 6863407832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

These are eight members in the family. Bravo and Priva are siblings. Angel is Kajal's
grand daughter, Kajal who is Priya's mother-in-law. Ziva is a married woman and is older
than Tim. Tim is the son of Sam who is the brother-in-law of Bravo. Smith is the eldest
male in the family. Angel is not Ziva's daughter. So how is Bravo related to Ziva?

1. Son
2. Husband
3. Brother-in-law

4. Son-in-law

Options :

68634030965. 1
68634030966. 2
68634030967. 3
68634030968. 4



Question Number : 42 Question Id : 6863407832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U JRaR H 316 ¥ & | sial 3R {1 Yis-a6 &1 Told PIoidt Pl gl § 3R
HIoid {Ua1 D1 G AT 5| Siid] U ATSIYET 3R § AR feA g 921 g1 fe0 I F1 o]
¢ Sl 991 1 IIel & | (7Y gRaR @ 99y 921 4oy § | Uold, Sitar &1 Gt 181 ¢ | dl odl
oftaT § Y Tefid g2

1. 97

2.9fd

3. Il

4. ¢lHlq
Options :
68634030965. 1
68634030966. 2

68634030967. 3
68634030968. 4

Question Number : 43 Question Id : 6863407833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Observe the following premises and select the correct concusion :
Major premise : All engineers are innovative
Minor premise : All students are engineers.
Conclusions :

1. All innovative are students
2. All students are innovative
3. No innovative are students

4. No engineers are students

Options :

68634030969. 1
68634030970. 2
68634030971. 3



68634030972. 4

Question Number : 43 Question Id : 6863407833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

[t uieRl 1 FRE0T B3 SR gl by T,
T URER- g4l SoilfaR A9ERl B
Ayl o @ faemdf SSiiar ¢
ey
1. gt R faeedf g
2. g4l fqemdf Aar=i ¢
3. $I3 Ao faemff et €
4. IS SoffR faemff et €

Options :

68634030969. 1
68634030970. 2
68634030971. 3
68634030972. 4

Question Number : 44 Question Id : 6863407834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the trend and choose the missing character from given alternative.

10 |
170 2 | 37
30 | 65 |

[t
n

(o)
[ 5]

Options :



68634030973. 1
68634030974. 2
68634030975. 3
68634030976. 4

Question Number : 44 Question Id : 6863407834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fau gu arferent & e &1 Udl @ SR W1 §U ST &1

2 [ 5 [1o
17 7 |37
|50 ] 65 | 82

3.27

4,32

Options :

68634030973.
68634030974.
68634030975.
68634030976.

AW N =

Question Number : 45 Question Id : 6863407835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



<&

Which of the following will be the next figure in the sequence.

[

S [®][®

Options :

68634030977. 1
68634030978. 2
68634030979. 3
68634030980. 4

Question Number : 45 Question Id : 6863407835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IR fau HH H 3r7en 7 A9 # 9 & g

S @] [&

Options :

68634030977. 1
68634030978. 2
68634030979. 3
68634030980. 4

Question Number : 46 Question Id : 6863407836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Count the number of triangles and square in the given figure.

ANV

1. 26 triangles, 5 square

]

. 28 triangles, 5 square
3. 26 triangles, 6 square
4. 28 triangles, 6 square

Options :

68634030981. 1
68634030982. 2
68634030983. 3
68634030984. 4

Question Number : 46 Question Id : 6863407836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feu gu fomt & Rrygeit ok aif &t Tvem |

AN

1.26 BYS, 5
2. 28 Fryer, s
3.26 YW, 6 T
4,28 Y, 6 ¥l

Options :
68634030981. 1
68634030982. 2



68634030983. 3
68634030984. 4

Question Number : 47 Question Id : 6863407837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the figure that which is different from the rest?

1.
2.
3.
]
4.
l
Options :

68634030985. 1
68634030986. 2
68634030987. 3
68634030988. 4

Question Number : 47 Question Id : 6863407837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g H O HE R 3R T 3@ g2

L.
2
3
I
4.
I
Options :

68634030985. 1
68634030986. 2
68634030987. 3
68634030988. 4

Question Number : 48 Question Id : 6863407838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the missing term in the given series :
4,10, 7, 82, 244, 730

1.24

b3

.28

(Y]

7T

4. 218

Options :
68634030989. 1
68634030990. 2



68634030991. 3
68634030992. 4

Question Number : 48 Question Id : 6863407838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
& §U AT0T 7 9 e e 1 Gl T

4, 10,7, 82,244,730

2,28
3.77
4,218

Options :

68634030989. 1
68634030990. 2
68634030991. 3
68634030992. 4

Question Number : 49 Question Id : 6863407839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The tangent to the hyperbola x> — v* = 3 are parallel to the straight line 2x + v+ 8 =0 at
the following points :

1.(2.2), {1,2)
242, -1), -2, 1)
3.(=2.-1).(1. 2)
4.(=2,-1),(-1.-2)

Options :

68634030993. 1

68634030994. 2

68634030995. 3
68634030996. 4

Question Number : 49 Question Id : 6863407839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g{iﬁﬂmﬁu 2 — 32 = 3 BT W W R, [ 2x +y + 8 = 0 D H {dg3(f R THFIR

—_

o e S8 B

]

A2,~1)1(=2.1)

(W8]

A=kl
3G~

Options :

68634030993. 1
68634030994. 2
68634030995. 3
68634030996. 4

Question Number : 50 Question Id : 6863407840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Accircle S passes through the point (0, 1) and is orthogonal to the circles (x —1)* +1° =16
and x> + 1% = 1. Then

A. Radiusof Sis 8
B.Radiusof Sis5 7
C.Centre of Sis (-7, 1)
D. Centre of Sis (-8, 1)

1. A only

-2

. Aand B only

fad

.Band C only
4. D only

Options :

68634030997. 1
68634030998. 2
68634030999. 3
68634031000. 4

Question Number : 50 Question Id : 6863407840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T gd STdg (0. 1) YIORAI g 3R T algal (x—1)2 +12 =16 AR 2 +)2 =17
Fi_claﬁ(orrhogonal )%?ﬁ

A. S®I T 851
B. S & =T 781
C. SHI % (-7, 1) 8l
D. S®HIdg (-8, 1) 5l

4 feu U faedl & § 98l 3R gHT
1.Pdd A

2. hdd AJRB

3. %ad B3R C

4.%dd D

Options :

68634030997. 1
68634030998. 2
68634030999. 3
68634031000. 4

Question Number : 51 Question Id : 6863407841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is lebelled as Assertion A and the other is labelled
as Reason R.

Assertion A : The number of parallelograms in a chess board is 1296.

Reason R : The number of parallelograms when a set of m parallel lines is intersected by
another set of » parallel lines is " C, . "C,

In the light of the above statements, choose the correct answer from the options given
below :

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. A s true but R is false

4. A is talse but R is true

Options :

68634031001. 1
68634031002. 2
68634031003. 3
68634031004. 4

Question Number : 51 Question Id : 6863407841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dR Sl YT U U g, ? SHIHBUT (Assertion A) B ¥ H [eldd § 1 GORI IUD
h[U] (Reason R)% oy

DY A: TS & dls H THIAR AqHSI B AT 1296 B

PRI R: Od TH e F m GHIGR JQTU G0 g & » GHIR 3@1sfl $l uida
H1 ¢ O FHIGR IgHSl DI d=T "¢, . "C, Bldl B

JQRIFT DY & 3fTelid H, i ST T fdehedl H# H ad Iugad IR BT 99 Hifore
1. A SR R &I 9gl § SR R, A P| HEl AT §
2. AR RGHI 981 € 3R R, A UL ARG Tl ©
3.AYgI g AfbT R Uel el @
4. ATgI el § AfPTR WET ©




Options :

68634031001. 1
68634031002. 2
68634031003. 3
68634031004. 4

Question Number : 52 Question Id : 6863407842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is lebelled as Assertion A and the other is labelled
as Reason R.

Assertion A : If two circles interesect at two points, then the line joining their centres is
prependicular to the common chord.

Reason R : The perpendicular bisectors of two chords of a circle intersect at its centre.

In the light of the above statements, choose the correct answer from the options given
below :

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. Ais true but R is false

4. A 1s false but R is true

Options :

68634031005. 1
68634031006. 2
68634031007. 3
68634031008. 4

Question Number : 52 Question Id : 6863407842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I &l $Y fGU U g, gﬁ ST (Assertion A) P ¥U H IR g ol GURI 39D
D RUT (Reason R)$ Rt

MDY A: SR &l 9d al f[agafl IR Ufdwde ®ed ¢ dl 3-d by fdgail ol fHar
Tl Xl I f57dT & daad gidl B

PR R: dd & &l [Sid131i & dddd fgHIoie IUd dhafdg ol didwde Hd g
I HY b el H, < ST U fab ol # I 969 Iugad IR Bl 99 Hiforg
1. AR R G 9l § IR R, A Pl Ug| ARA §
2. AR R G Yel g 3R R, A DI gl ARAT gl o
3. AT g AT R UG TRl &
4. ATEI 8! © b RS ©

Options :

68634031005. 1
68634031006. 2
68634031007. 3
68634031008. 4

Question Number : 53 Question Id : 6863407843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A triangle with vertices (4, 0), (-1, -1), (3, 5) is

1. Isosceles and right angled

I3

. Isosceles but not right angled
3. Right angled but not isosceles
4. Neither right angled nor isosceles

Options :

68634031009. 1
68634031010. 2
68634031011. 3
68634031012. 4

Question Number : 53 Question Id : 6863407843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T BAYS (4. 0), (<1,-1). (3. 5) 2N drd
1. gHlGETg SR SHSIUA g
2. gHfGETE § AfchT THDIU™ g1 B
3. GHPIY ¢ didh- gHfgalg -1l ¢
4. 911 Al GASIOE g 1 FHfGETg o

Options :

68634031009. 1
68634031010. 2
68634031011. 3
68634031012. 4

Question Number : 54 Question Id : 6863407844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;

(¢

a
Statement I : [ f(x)dx = [[f(x)+ f(-x)ldx
| {

] ——
Statement II : [ya+x+x") dx is less than or equal to '—;

1]

In the light of the above statements, choose the most appropriate answer from the options
given below :

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement II is correct

Options :

68634031013. 1
68634031014. 2
68634031015. 3
68634031016. 4

Question Number : 54 Question Id : 6863407844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:ﬁa“‘a“ﬁmﬂmmz%
PYAT: J-f{\‘lcl"\ f[fl\}+}‘{ x)]elx

DU : j'\,flul{lu ) dx 0 HH T RIS 61
Gﬂﬂaﬁam?raswf[ i feu U faspodl # ¥ 9ad I9gdd IR Bl 90+ Hifoly

1. BYT1 3R HUF T o Uel &
2. HYF 1 3R Y 11 S Ge I8 ©
3. HY 1 Yel g, didh BYF 1 7dd

4. FU 1Yol Fol o, Al BYF 11 Ul &

Options :

68634031013. 1
68634031014. 2
68634031015. 3
68634031016. 4

Question Number : 55 Question Id : 6863407845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is lebelled as Assertion A and the other is labelled
as Reason R.

Assertion A : [ (' +35)dc =30
_3

Reason R : 7(x)=»"+5 1s an odd function

In the light of the above statements, choose the correct answer from the options given
below :

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. A s true but R is false

4. A is false but R is true

Options :

68634031017. 1
68634031018. 2
68634031019. 3



68634031020. 4

Question Number : 55 Question Id : 6863407845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl pUA feu U §, gﬁ ST (Assertion A) P ¥U H IR g ol GURI 39D
D RUT (Reason R)$ Rt

3
HPYT A - j (x> +5)dx =30
=

BRUR : £(x)=x° +5UP [A9H B 5l

SWRIdd HYF & el H, i 3T 7T [dbedl § 9 a8 Iugad IR &1 99 DI
A SRR G gl ¢ SRR, A P! Hel ARAT §

AR RGH TEl g SRR, AP U URAT Tl ©

ATEI g BT R TS TRl §

4. AgI gl g dfbARYSI §

Options :

68634031017. 1
68634031018. 2
68634031019. 3
68634031020. 4

—

b2

fad

Question Number : 56 Question Id : 6863407846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following functions is differentiable at x = 0?

[a—

. €os (|x]) + |x|

]

. cos (|x]) — |x|

(%]

. sin (Jx]) + |x|
4. sin (x]) — x|

Options :

68634031021. 1
68634031022. 2
68634031023. 3



68634031024. 4

Question Number : 56 Question Id : 6863407846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
79 5 9 S T BT x =0 R 3dDHa-g g7

. €05 (|x]) + x|

—

[

. €0os (|x]) — |x|

fa

.sin (|x)) + x|

I

. sin (|x]) — |x|

Options :

68634031021. 1
68634031022. 2
68634031023. 3
68634031024. 4

Question Number : 57 Question Id : 6863407847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If fand g are differentiable functions in (0, 1) satisfying fl0) =2 = g(1), g(0) =0 and f{l) =
6, then for some ¢ €]0, 1]

1.2f"(c)=g'(¢)
2.2f"(c)=3g"(c)
3.f'(e)=¢'(c)
4.1 (c)=2¢"(¢)
Options :
68634031025. 1
68634031026. 2

68634031027. 3
68634031028. 4

Question Number : 57 Question Id : 6863407847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR 3R g (0. 1) H AAHAFT BAT 6 ol A0) =2 = o(1), 2(0) =0 and A1) = 6, Pl
¥ P A DD ¢ €10, 1[ D AU

1.2f " (c)=g' (¢)
2.2f"(e)=3g' (¢)

3.7 "6} =2 (&)
4.f'"(c)=2¢"(c)
Options :

68634031025. 1
68634031026. 2
68634031027. 3
68634031028. 4

Question Number : 58 Question Id : 6863407848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o, . .
If the curve ay + x> = 7 and x* = y, cut orthogonally at (1, 1), then the value of a is -

1.1

3.6
4.0

Options :

68634031029. 1
68634031030. 2
68634031031. 3
68634031032. 4

Question Number : 58 Question Id : 6863407848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR TP ay+x2=7 AR x3 =y, Tdg (1. 1), W FHGd (orthogonally ) PTed g @l a Bl
M -

(]
=)

L

.—6
4.0

Options :

68634031029. 1
68634031030. 2
68634031031. 3
68634031032. 4

Question Number : 59 Question Id : 6863407849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is lebelled as Assertion A and the other is labelled
as Reason R.

Assertion A : If a#£ b, then (a. b) £ (b. a)
Reason R : (4. — 3) lies in quadrant IV,

In the light of the above statements, choose the correct answer from the options given
below :

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. Ais true but R is false

4. A is false but R is true

Options :

68634031033. 1
68634031034. 2
68634031035. 3
68634031036. 4

Question Number : 59 Question Id : 6863407849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl pUA feu U §, gﬁ ST (Assertion A) P ¥U H IR g ol GURI 39D
D RUT (Reason R)$ Rt

HHPYTA: TG a £ b. T (a. b) £ (b, @)
BRI R: (4, — 3) TUI HIT (1V) H@dl 6|
JWRId HY & 3Telid H, i fdT 7T fdhedl # 9 o Iugad IR T 99 DIfU
1. AR R G 98l § IR R, APl UG ARAT §
2. AR R G Yel g 3R R, A DI Gg! ARAT gl ©
3. ARl ¢ AfT R U6l &
4. ATEI 8! © Al R TSI ©

Options :

68634031033. 1
68634031034. 2
68634031035. 3
68634031036. 4

Question Number : 60 Question Id : 6863407850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The point(s) at which function fis given by f(x)=1 x|’ is continuous is/are

LR

2.x=0

3.x R\ {0}

4. -1 and 1
Options :

68634031037. 1
68634031038. 2
68634031039. 3
68634031040. 4

Question Number : 60 Question Id : 6863407850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



X < -; r . [ 3y Su
/() |T *Umad r g fig Mgt R amar 2/

- x>0
LaxER
2.x=0
3.xe R\ {0}
4.-1 3R 1

Options :

68634031037. 1
68634031038. 2
68634031039. 3
68634031040. 4

Question Number : 61 Question Id : 6863407851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST IT
A |No. of triangles formed using 5 points in a line and 3 poinis on parallel line 1y 1. |20
B. [No. of diagonals drawn vsing the vertices of an octagon II. |10
C. |The no of diagonals in a regular polvgon of 100 sides 15 I |43
D. A polygon with 35 diagonals has sides IV. 4850

Choose the correct answer from the options given below:

1. A-1, B-1I, C-II1, D-1V

]

. A-IL B-II, C-1, D-IV

Tad

CA-IIL, B-1V, C-1, D-II
4. A-IIT, B-1, C-1V, D-II

Options :

68634031041. 1
68634031042. 2
68634031043. 3
68634031044. 4

Question Number : 61 Question Id : 6863407851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gl 11 gl 1 Y A Sifoy

T 1 T I
A |od T H 5 fdgail 311 39 iy a1 H 3 gl 4 Bys 94 o gebd| L o
B [#FYS & WY & SUNT H3b, fha-l Gl H &0l g o Gl © 1 [io
& mowaﬁanﬁﬁtrﬁimaggaﬁwa‘lw 1. |45
D. [35 U arci dg4s B Yolld & 1v. 1850

[gieRad [deel 4 9 98] 3R &1 994 DI :

1. A-I, B-1I, C-III, D-IV

(]

.A-II B-IIL, C-1, D-IV
3. A-IIL, B-1V, C-I, D-1I
4. A-IIT, B-1, C-1IV, D-1II

Options :

68634031041. 1
68634031042. 2
68634031043. 3
68634031044. 4

Question Number : 62 Question Id : 6863407852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is true :

A.Ifacos A=bcos B, then the triangle is isosceles or right angled.

B. If in a triangle ABC, cos A cos B + sin A sin B sin C =1 then the triangle is 1sosceles
right angled.

C. If the ex-radii r1, 12, 13 of AABC are in the HP, then it's sides are not in AP

Choose the correct answer from the options given below :

[a—

A and B only

]

B and C only

LS

B and C only
4. B only
Options :

68634031045. 1
68634031046. 2



68634031047. 3
68634031048. 4

Question Number : 62 Question Id : 6863407852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FgA 990 &:

A Tf¢ acosA=bcos B, ﬁﬁ%ﬂﬁ@ﬁ]@ﬂﬂﬂﬁﬁuﬂﬂ%!
Bqﬁrﬁﬂ_ﬂﬁ'}ﬁ? ABC H . cos A cos B + sin A sin B sin C =1 H@ﬁﬂﬁm
TSI &
C. TfE (ex-radii) STRT AT 11, 12, 13 A4S AABC H HP.(EUES 4Uit ) H g T 3UD!
YWt AP (THiaR Aufhd el 2
= feu U fdsedl & 9 98l ST FHT
1. $dd A 3B
2. %ad B3R C
3.ad B3R C

4, $Hdd B

Options :

68634031045. 1
68634031046. 2
68634031047. 3
68634031048. 4

Question Number : 63 Question Id : 6863407853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is lebelled as Assertion A and the other is labelled
as Reason R.

- g . . i
Assertion A : flx) = tan” x is continuous at x = /2

Reason R : g(x) = x* is continuous at x = /2

In the light of the above statements. choose the correct answer from the options given
below :

1. Both A and R are true and R is the correct explanation of A

2

. Both A and R are true but R is not the correct explanation of A

L

. Ais true but R is false

4. A 1s false but R is true

Options :

68634031049. 1
68634031050. 2
68634031051. 3
68634031052. 4

Question Number : 63 Question Id : 6863407853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I &l $Y fGU U g, gﬁ ST (Assertion A) P ¥U H IR g ol GURI 39D
D RUT (Reason R)$ Rt

HUBYT A : fix) = tan® » AT © atx =12 W

PRUIR : o(x) =% is GAT § ax=22 R

IWIGd Y & 3Tl H, [ 3T T fdh el # ¥ 969 Iugad IR &l 99 BIfoT
A SR R Gl 98l § 3R R, APl Hgl IRA §

. A SRR &Il 9gl g SRR, A P Ug! URA -Tgl &

AT APIR TS TRl §

AT el g AT R WET 8

Options :
68634031049. 1
68634031050. 2

—_

b2

L]

oY



68634031051. 3
68634031052. 4

Question Number : 64 Question Id : 6863407854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
. | ) .
For 0 < 8 < /2, the solution(s) of >’ :;r cosec (H +(m- l}% ]coesc(ﬂ - %J = 4+/2 is/are

A w4
B. /6
G 12
D. 5n/12

Choose the correct answer from the options given below :

P

.Aand B only

(]

. C and D only

(]

. Aand C only

4. B and D only

Options :

68634031053. 1
68634031054. 2
68634031055. 3
68634031056. 4

Question Number : 64 Question Id : 6863407854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3
0<0<n2 &feu (s) of Zzﬁcosec[ﬂﬂm— l)%Jcoesc(B+—) 42 W% %‘

A.n/4
B. /6
C.a/12
D. 57/12

4 feu e fasedi & 9 WEl IR gHT
1. $ad A R B
2. Hdd C 3R D
3. had AR C
4. %99 B 3R D

Options :

68634031053. 1
68634031054. 2
68634031055. 3
68634031056. 4

Question Number : 65 Question Id : 6863407855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If sin P is the GM between sin o and cos o, then cos 2p is equal to

. 2sin’ [g —{1]

[

b2
]
o
=

o]

-hlzd
Q

Options :

68634031057. 1
68634031058. 2
68634031059. 3
68634031060. 4



Question Number : 65 Question Id : 6863407855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sin B sin o AR cos o, F AP GM TN E cos 26 TRE

1. 2sin®

5-
5-

4:a|r4

I3

—ik

-b-lFl

2

LS

. 2¢C08%

-hI::I

+ O

.
|
)
oo

Options :

68634031057. 1
68634031058. 2
68634031059. 3
68634031060. 4

=3

Question Number : 66 Question Id : 6863407856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of elogl0 tanl® + logl0 tan2° + logl0 tan 3° + ... ... .., ... + log10 tan 89° ;o

1.0

Options :

68634031061. 1
68634031062. 2
68634031063. 3
68634031064. 4

Question Number : 66 Question Id : 6863407856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The value of 010 tanl® +logl0 tan2® ~logl0tan 3° ~ . .. . .. +logl0 tan 89° g7 {TH

)
™

4.1

Options :

68634031061. 1
68634031062. 2
68634031063. 3
68634031064. 4

Question Number : 67 Question Id : 6863407857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is lebelled as Assertion A and the other is labelled
as Reason R.

Assertion A : If dot product and cross product of ; and j are zero, it implies that one of the
vector ; and 3 must be null vector

Reason R : Null vector is a vector with a zero magnitude.

In the light of the above statements, choose the correct answer from the options given
below :

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. A s true but R is false

4. A is false but R is true

Options :

68634031065. 1
68634031066. 2
68634031067. 3
68634031068. 4

Question Number : 67 Question Id : 6863407857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I &l $Y fGU U g, gﬁ ST (Assertion A) P ¥U H IR g ol GURI 39D
D RUT (Reason R)$ Rt

3B Y A A ; R ; & e PHGH IR B oG I ¢ | 98 ar s b
qicgl s 3R 4 ( null vector) %

Reason R : 7 99X (Null vector) Ush dae & e URHTU Y4 Bl 5 |
SWRId HYA & 3Telid H, i< 4T 7T f[dhedl # I o Iugad IR T 99 DIfT
1. A 3R R &I 9l § IR R, APl Ug| URAT §
2. AR R G ¥al g 3R R, A DI gl ARAT gl ©
3. ARl € AfhT R TR 6l &
4. ATEI TS BB R Bl §

Options :

68634031065. 1
68634031066. 2
68634031067. 3
68634031068. 4

Question Number : 68 Question Id : 6863407858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

v : : 0.
If 4. are two unit vectors and 6 is the angle between them, then cos_ 1S equal to

| g
1. j m+

(]

|m—ny|

b | =

1 s y
3 . 2 Hy.m
Liny % 11
4, .
2\m || ns |
Options :

68634031069. 1
68634031070. 2
68634031071. 3
68634031072. 4



Question Number : 68 Question Id : 6863407858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R A : ﬁwﬁéﬁ?m%aﬁwwﬁaﬂawﬁm%aﬁmgw%

1 A
I " ‘) m+
| A
2= | —H |
= 2
3. in
e R Hy.m
4 Liny % 11
2\m || ns |
Options :

68634031069. 1
68634031070. 2
68634031071. 3
68634031072. 4

Question Number : 69 Question Id : 6863407859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The moment of the couple formed by the forces s.; and _5_; acting at the points (9, -1, 2)
and (3, -2, 1) respectively. is

eyt
2. ~ 1411 75k
3. feil jask
4. ."—-lf—f_?lfa’.

Options :

68634031073. 1
68634031074. 2
68634031075. 3
68634031076. 4

Question Number : 69 Question Id : 6863407859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



STl 4. 3R i BRI (9, -1, 2) 3R (3. -2, 1) W HHT: T T FH| Pl
o &1 B

¥oA o a
L. 1l r—j+5k

2

c=Fell sk
3. Jfenajusk
4. i j-si
Options :

68634031073. 1
68634031074. 2
68634031075. 3
68634031076. 4

Question Number : 70 Question Id : 6863407860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is true :

A. Two vectors are said to be identical if their difference is zero.
Velocity is not a vector quantity.

C. Projection of one vector on another is not an application of dot product.

D. The maximum space rate of change of the function which is increasing direction of
line function is known as gradient of scalar function.

Choose the most appropriate answer from the options given below :
1. B and C only
2. Aand C only
A and D only

4. B and D only

Options :

68634031077. 1
68634031078. 2
68634031079. 3
68634031080. 4

Question Number : 70 Question Id : 6863407860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafad & 9 oH el g

A. Gl 9ia=1 o] YHM dd Bl §ildl g gi 396! ik YA g
B. 71fd U Hiaw AR -1E1 3
C. U iR T ¢aY U W&l SIc BT U |

D. e & URdd oI ffUhad M &R ol dig-1 Ba- Pl 9gal 8 1620 5, ThaR
B & UauIdl & U H SIHT SIdl g |

i feu v fasbedl | ¥ 98l 3w gAY
1. $dd B AR C
2. FATA AR C
3. %had AJRD
4. %dd BIRD

Options :

68634031077. 1
68634031078. 2
68634031079. 3
68634031080. 4

Question Number : 71 Question Id : 6863407861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The unit vectors orthogonal to the vector _;.2}+24 and making equal angles with the x and
v axis is (are)

1. 1--!:3:4-2,}' 2k)

I~
I+
8
+. 5
L

|
=

Options :

68634031081. 1
68634031082. 2
68634031083. 3
68634031084. 4



Question Number : 71 Question Id : 6863407861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ShIs G TG _j.2j.00 P QDI x AR 3 3efl & 1Y U S0 41 ¢ (2)

I A .
L.# iIE.ﬂ' +2 j-2k)

1 ~ & ’
2 i;tH_;‘—.ﬁ'}

4. i%g}—z}'—zh

Options :

68634031081. 1
68634031082. 2
68634031083. 3
68634031084. 4

Question Number : 72 Question Id : 6863407862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : The angle between the vectors 2154 and »;_j_; 1S /2

Statement IT ;: The vector ax(sx ¢) is coplanar with ; and

In the light of the above statements, choose the correct answer from the options given
below :

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement I is true

Options :

68634031085. 1
68634031086. 2
68634031087. 3
68634031088. 4

Question Number : 72 Question Id : 6863407862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

i 2l B fGu T B

BUTL: QR 55,374 AR 25_5; DI BT DI 1/2

DY : ISR Juindy. 2 3R 3 DAY GHAAG B

IWRIad HY & 3l H, i 3 T [l H @ 9ad 3ugad 3R &l 99 i

1. YU 1 3R U 1 HI Tel &
HYT 1 3R HYA M aH T ©
DY 1ol 6, Al HUF 1170 §
4. YA 1A 5. Albd HUT I G| ©

[

fad

Options :

68634031085. 1
68634031086. 2
68634031087. 3
68634031088. 4

Question Number : 73 Question Id : 6863407863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the unit vectors ; and 7 are inclined at an angle 26 such that |7-7 <land 0 <6 <m,
then O lies in the interval.

1. [0, 1/2]

2. [5m/6, m]

3. [W/6, 1/2]

4. [m/2, 5n/6]
Options :
68634031089. 1
68634031090. 2

68634031091. 3
68634031092. 4

Question Number : 73 Question Id : 6863407863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g 3PTs UAW 3 3R 3 DIV 26 SUUBR I 8T TP 2 <13Ro<0<n @ 0
RIS H 5 6

1. [0, 1/2]

]

. [5n/6. ]

L]

. [m/6, mi2]
4. [m/2, 5m/6]

Options :

68634031089. 1
68634031090. 2
68634031091. 3
68634031092. 4

Question Number : 74 Question Id : 6863407864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Each of the angle between vectors ; and ¢ 1S equal to 60°. If | 71=4, 5 |=2 and | & =6 then
the modulus of ;. 5,2 IS

1. 10

2

. 15

4. 20

Options :

68634031093. 1
68634031094. 2
68634031095. 3
68634031096. 4

Question Number : 74 Question Id : 6863407864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qfe™r 2 7 3R 2P S BIUAD BT 60° B RIER ST (71=4, 7 =2 2R 216
2. 7.2 PIHAMUD g
1. 10

2. 15

4. 20

Options :

68634031093. 1
68634031094. 2
68634031095. 3
68634031096. 4

Question Number : 75 Question Id : 6863407865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If 4=2i+27+3k B =-i+2j+k and ¢ =3;+; are such that 7,5 is prependicular to 2 then
determine the value of y?

1.5
2.0
3.4
4.8
Options :
68634031097. 1
68634031098. 2

68634031099. 3
68634031100. 4

Question Number : 75 Question Id : 6863407865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T Gonivajesh B=isayek 3R 2o3iy) TWREAG® 2,42, 2 PTadgdly oI
T J1d Hifore?

1.3
2.0
3.4

4.8

Options :

68634031097. 1
68634031098. 2
68634031099. 3
68634031100. 4

Question Number : 76 Question Id : 6863407866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : The number of different number each of 6 digits that can be formed by using
all the digits 1. 2, 1, 0, 2, 2 15 50.

Statement IT : These are 4536 possibilities of writing the four digit numbers which have all
distinct digits.

In the light of the above statements, choose the correct answer from the options given
below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement II is true

Options :

68634031101. 1
68634031102. 2
68634031103. 3
68634031104. 4

Question Number : 76 Question Id : 6863407866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i gl HYH feU W E:

HYUA I GHI 3feh 1,2,1,0,2,2 BT ITANT b ST, ST Heb dIeil 6 el Bl Sfefl-
3T W13 Pl T2 50 & |

HUYF I TR APl DI & Bl foRa BT 4536 UG §, T i HTHT-3TT 5
SR BYH & 3Tl H, A1 U T fdebedi | ¥ 99 Iugdd IR BT 90 DIy
1. YT 3R FYT I TE &
2. YA 1 R HYF 11 &HI Td §
3. BYT1 TG 6, dich1 Y 1 7Ted §
4. YA 17Ad 5. Al HUF 11 Ugl ©

Options :

68634031101. 1
68634031102. 2
68634031103. 3
68634031104. 4

Question Number : 77 Question Id : 6863407867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A person goes in for an examination in which there are four papers with a maximum of m
marks from each paper. The number of ways in which one can get 2m marks is

| A 5
| -%{m FIN2m™ +4m+1)

2 l-,'l-”i"”][jm: +dm+2)
3. :];':H'-'-— (2 +4m+3)
P
4 . 2m+3 (.1_1,
Options :

68634031105. 1
68634031106. 2
68634031107. 3
68634031108. 4

Question Number : 77 Question Id : 6863407867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U Afad TP G1&T & fore 17dl g o U 90R 9 AfIHdH m 2id1 & Y IR TR
Bid o | TI! i T foRTH Bls 2m 3@ UItd R G&dl o

| 4
1. -%-{m FIN2m™ +4m+1)

I3

| 9
;lm + 12w =dm+2)

L]

1 v
5 ;iim-'— I 2m™ +4m+3)

4, ¥,

3

Options :

68634031105. 1
68634031106. 2
68634031107. 3
68634031108. 4

Question Number : 78 Question Id : 6863407868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If A, B and C are any three sets, then

A A=B NOy={AN B)=(A1C)
B.A-(BUC)=(A-B)N(A-C)
C.n(A-B) =n(A)-n(AMNB)

DANB-CO=ANB) N(A-C)

Choose the most appropriate answer from the options given below :
1.A, B, Conly
2.B,C, D only
3.C,Donly
4. B, C only
Options :
68634031109. 1
68634031110. 2

68634031111.3
68634031112. 4

Question Number : 78 Question Id : 6863407868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tfg A, B 3R C By dH G g, dlI

AA-BNCO=ANB) -(ANC)
BA-(BuQO)=(A-B)N(A-C)
C.n(A-B) =n(A)—-n(AN B)

DANB-C)=ANB) N(A-C)

i feu e fasedi § 9 WE IR gHT
1.HAd A. B, C
2. $dd B,C.D
3.9dd C,D
4. $H9AB. C

Options :

68634031109. 1
68634031110. 2
68634031111. 3
68634031112. 4

Question Number : 79 Question Id : 6863407869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If each of n numbers x; =i is replaced by (i + 1) x;, then the new mean is

(n+1}n+2)

=

n

(]

. n+1

(n+1n+2)
3

(m+1)5n+4)
4

Options :

68634031113. 1
68634031114. 2
68634031115.3
68634031116. 4

Question Number : 79 Question Id : 6863407869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gie Ul T v, =i Bl (i + 1) x;, Y dad 1491 SY ol 191 H1e g |

1 _{n+lll{_u+.2}

"

-2

.n+1

3 (m+1n+2)
DT

4 (m+1¥5n+4)
i}

Options :

68634031113. 1
68634031114. 2
68634031115.3
68634031116. 4

Question Number : 80 Question Id : 6863407870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The H.P. of two numbers is 4 and the arithmatic mean A and geometric mean G satisfy the
: 3
relation 2A + G- = 27, the numbers are

2.5,4
3.5,-25

4.-3,1

Options :

68634031117. 1
68634031118. 2
68634031119. 3
68634031120. 4

Question Number : 80 Question Id : 6863407870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



<1 Tl BT H.P(ERIHD 40M) 4 8 3R YHRR A1e7 A 3R UMR AT G Tefe 24 +
2= 27, %] ¥ B 5, TN §

1:6,3

2.5,4

4.-3,1

Options :

68634031117. 1
68634031118. 2
68634031119. 3
68634031120. 4

Question Number : 81 Question Id : 6863407871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If every pair from among the equation x* + px + gr=0, x> + gx + rp =0 and x> + rx + pg
= 0 has @ common root, then the product of three common roots is

1. pgr

2. 2pgr

5

3. ng‘r-
4, ngrl

Options :

68634031121. 1
68634031122. 2
68634031123. 3
68634031124. 4

Question Number : 81 Question Id : 6863407871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tfe IR x3+px+—qr=0.x2+qx+rp=0Sﬂ?xz+iw+pq=0 Eal Wwfﬂa
T D10 Jd ¢ | Tl il DIH- Jal 1 0B § :
1. pgr

2. 2pgr
q. qulrl

4. pzqu

Options :

68634031121. 1
68634031122. 2
68634031123. 3
68634031124. 4

Question Number : 82 Question Id : 6863407872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. If A and B are two invertible matrices, then (AB)™! =A~1 B!

B. Every skew-symmetric matrix of odd order is invertible

C. If A is non-singular matrix, then (A7)l =(A™1)T

D. If A is an involutory matrix, then (I+A)(I-A)=0

E. A diagonal matrix is both an upper triangular and a lower triangular

Choose the correct answer from the options given below :

1.A, B.C,E only

| ]

. B, D, E only

ol

.A. D, E only
4.C,D, E only

Options :

68634031125. 1
68634031126. 2
68634031127. 3
68634031128. 4

Question Number : 82 Question Id : 6863407872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafad ®# 9 @ 9 9el 62

AT AR B U@ BfcF g al (AB) ! = A1 B!

B. fa9H &H 1 Ud® a1 gaiEd Afde uiddid gidi ol

C. If¢ A TH IR HehHUI HicR g, dl (A7) = (a )T

D. 4l AUH =55 dicad e, dl (I +A) I1-A)=0

E. famul Bfeaq te S Hwivia ok e e Baia g g

= fu U fadeni | ¥ Wel IR gHY

|.$dd A, B, C.E
2. $9d B, D, E
3. $H9dA.D.E
4. $ddC,D.E

Options :

68634031125. 1
68634031126. 2
68634031127. 3
68634031128. 4

Question Number : 83 Question Id : 6863407873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 3

!:r Fa B

2

If x, v, z are all distinct and |y 3 1+*|=0 , then the value of xyz is

2 3
z =z l+=

1.2
A
3.3
4.0

Options :



68634031129. 1
68634031130. 2
68634031131. 3
68634031132. 4

Question Number : 83 Question Id : 6863407873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qid v, vz G ATE R | 32 14y}=0 Al xyzBIAAT

1.-2
2.—1
3.-3
4.0
Options :

68634031129. 1
68634031130. 2
68634031131. 3
68634031132. 4

Question Number : 84 Question Id : 6863407874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Leta= ms%ﬂ i jgin%n a=a+a®+a* and B = & +a° + g then the equation whose root

are o, [ 18
l.x*+x+2=0

o Ex—2=0

]

,
X —x—-2=0

(]

~

4.x“—x+2=0

Options :

68634031133. 1
68634031134. 2
68634031135. 3
68634031136. 4



Question Number : 84 Question Id : 6863407874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

™

HI r‘:illkHQ a= cns—z' +r‘5in~—2‘ ,a=a+a’ +a" 31 =g +a +a, SIREIERUNENES
7 7 B
Hel a, B B

L.x*+x+2=0

2.2 4+x-2=0
3.2 —x-2=0

4. ¥ —x+2=0

Options :

68634031133. 1
68634031134. 2
68634031135. 3
68634031136. 4

Question Number : 85 Question Id : 6863407875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 1 Ap+A, -
If Ay, A, be two AM's and Gy, G, be two GM's between a and b, then %t__ is equal to

a+h
2ab

2ab

a+b

]

3 a+h
T ab

4 a+b

\"I [ ;‘i

Options :

68634031137 1
68634031138. 2
68634031139. 3
68634031140. 4

Question Number : 85 Question Id : 6863407875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR Ay A, & TH YUR T (AM) 3R Gy, G, &l SITH(GM) AR 18T, @ 3R b
S, dl i ReRe

GG

+h
L
2ab

2ab

a+h

q atb
o abh

4 a+b

Jab

Options :

68634031137. 1
68634031138. 2
68634031139. 3
68634031140. 4

Question Number : 86 Question Id : 6863407876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If f: R — R defined as of flx) = x= + 1 then minimum value of f{x) is
1.4
2.3
3.2
4.1
Options :
68634031141. 1
68634031142. 2

68634031143. 3
68634031144. 4

Question Number : 86 Question Id : 6863407876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G £: R — RPI fx) =2 + 1 GRI GRHING {631 ST g 1 Ax) BT TAGH A B
1.4
53
3.2

4.1

Options :

68634031141. 1
68634031142. 2
68634031143. 3
68634031144. 4

Question Number : 87 Question Id : 6863407877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. I (12 P)3 = (123)p, then value of P is infeasible.

B. The simplified sum of product form of the Boolean expression is
(P+@+R)1(P+Q+R).(P+Q+R) 1S (P+OR).
C. The minimum number of D {flip - flops needed to design a mod(258) counter is 8.

Choose the correct answer from the options given below :
1. A only
2. Aand B only
3. Aand C only
4. C only
Options :
68634031145. 1
68634031146. 2

68634031147. 3
68634031148. 4

Question Number : 87 Question Id : 6863407877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A.TfE (12 P); = (123)p. 11 P 1T GUTH T |

B. Sfe1T USD P40+ R.(P+ 0+ RLP+ 0+ B) D IO ] IRelIDd ANT (p+3R) B

C. HIS (258) D13 Bl fEOlZ P & AU 3{1d20eh D-ed -Gy BT TAdH H&=AT

8T

AT feu 7Y fadh el ® ¥ Hel 3R IHT

1. APdd

2. Hdd AR B

3. Hdd AR C

4, Had C

Options :

68634031145. 1
68634031146. 2
68634031147. 3
68634031148. 4

Question Number : 88 Question Id : 6863407878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A RAM chip has a capacity of 1024 words of 8 bits each (1k x §). The number of 2 x 4
decoders with enable line needed to constructa 16k x 16 RAM from 1 k x 8 RAM 1s

1.5
2.4
3.7

4.6

Options :

68634031149. 1
68634031150. 2
68634031151. 3
68634031152. 4

Question Number : 88 Question Id : 6863407878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Udh RAM [0 A 8 bits (1k = 8) & 1024 Ysal b1 &HT GIcll 81 W& (enable) XT3l (
line) & TIY 2 x 4 [SHIST Bl TWAT 16k x 16 RAM I 1 k x 8 RAM bl g1 & [l
HAGPH el

1.5
2.4
3.7

4.6

Options :

68634031149. 1
68634031150. 2
68634031151. 3
68634031152. 4

Question Number : 89 Question Id : 6863407879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 32 bit wide main memory with a capacity of 1 GB 1s built using 256 m x 4 bits DRAM

chips. The number of rows memory cells in the DRAM chip is 2!%. The time taleen to
perform one refresh operation is 50 nanoseconds. The refresh period is 2 milli seconds.
The percentage (rounded to the closest integer) of the time available for performing the
memory read/write operations in the main memory unit is

4.61

Options :

68634031153. 1
68634031154. 2
68634031155. 3
68634031156. 4

Question Number : 89 Question Id : 6863407879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



256 m 4 bits DRAM =I5 1 IYTNT 1 Siidl Pi &1 drell 32 foe ISt g=1 7nRd
15 75 o | DRAM o0 H HHR] I &I Uldkadl &1 I gl 214 81 U by
YRR ! YR HA &1 GHY 50 411D S g | Kby arafer 2 forcil 9dbs g1 J aaid
ﬁg..-ﬂs?aﬁqif&f%raﬂﬁa?%nwwaﬂw%mﬁ (FM¥eH gurfe

GED |

1.56
2, 39
3.54
4.61

Options :

68634031153. 1
68634031154. 2
68634031155. 3
68634031156. 4

Question Number : 90 Question Id : 6863407880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a correct definition of volatile memory?

1. It does not retain its contents at high temperature

]

It is to be kept in air tight box

(%]

. It loses its contents on failure of power supply

4. It does not lose its content on failure of power supply

Options :

68634031157. 1
68634031158. 2
68634031159. 3
68634031160. 4

Question Number : 90 Question Id : 6863407880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



greicTgd AART @ fAgfefad # 3 ugl aren g2
1. g (YD AGAM TR 301 G (STeT) Bl sSRHIR ol &l ¢
2. 3BT gaT AP I H 3@ ST o
3. U faoielt & 3myfd i fawerd 9R 39+t qrvi(Sren @l adi
4. g farotell 1 3yl Pt fatdar U (U=t aedi(STen) & gl @idi 6

Options :

68634031157. 1
68634031158. 2
68634031159. 3
68634031160. 4

Question Number : 91 Question Id : 6863407881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the expression (@ — 1) * (((b+¢) / 3) + d). Let x be the minimum number of
registers required by an optimal code generation (without any register spill) algorithm for
a load/store architecture, in which

(1) Only load and store instructions can have memory operands and

(1) Arithmetic instructions can have only register or immediate operands. The value of x is

3. 1

4.3

Options :

68634031161. 1
68634031162. 2
68634031163. 3
68634031164. 4

Question Number : 91 Question Id : 6863407881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AP (a—1)* ((b+¢)/3)+d). R ITIR B TH AT + Pl Al €R b b
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(i) Pad ATS 3R WR SCHIA, FART RS P 3@ TFd o

(ii) BNV SCaRM H dad AoRex A1 dah[d 3RS 8l hd & x PIHH ©

4.3

Options :

68634031161. 1
68634031162. 2
68634031163. 3
68634031164. 4

Question Number : 92 Question Id : 6863407882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of possible Boolean functions that can be defined for 7 Boolean variables
over n - valued Boolean algebra is

1 2”

Tad
-2
b
=

4. "

Options :

68634031165. 1
68634031166. 2
68634031167. 3
68634031168. 4

Question Number : 92 Question Id : 6863407882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



GHIFAd fera= Ba-d BT A 58 » - HH dTd gfera T dIsiord IR » §ferd =R @ oy
ORI fear & gehdl § ,

Options :

68634031165. 1
68634031166. 2
68634031167. 3
68634031168. 4

Question Number : 93 Question Id : 6863407883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If w; x, 3, = are Boolean variables, then which of the following is incorrect?

[a—

cwx+w(x+y)+x(x+y)=x+wy

- WE(P+Z)+Wx=W4x+)z

b3

Lo

L WR (P HRZ)F WX )y =Xy

4. (w+ ¥ way +wyz) = way + wyz

Options :

68634031169. 1
68634031170. 2
68634031171. 3
68634031172. 4

Question Number : 93 Question Id : 6863407883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



LS, x, 3 = oA o, dl FHIRIT & I I 91 7Tdd 87

cwx+twlx+y)+Hx(x+y)=x+wy

—_

I
= |
B |
3
2
+
=l
=
Il
=zl
.|.
ey
_+
T;'il

fad

(WX (AW )y =ay

5.

(W vY(way £ wuz) = way + wyz

Options :

68634031169. 1
68634031170. 2
68634031171. 3
68634031172. 4

Question Number : 94 Question Id : 6863407884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If @ and © denote the exclusive OR and exclusive NOR operations, respectively, then
which one of the following is not correct?

l. P®0=rogp

2

. PBRO=POQ

LS

. PBO=PBQ
4. (P&P)+0=(POP)OQ

Options :

68634031173. 1
68634031174. 2
68634031175. 3
68634031176. 4

Question Number : 94 Question Id : 6863407884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ife @ IR © HHY UGB OR 3R THHI[STd NOR HIGRRH i [1of=Id Sl &,
dl Fafeiad 9 & ggl el 87

2. P®O=POQ
3. PRO=PBQ

4. (P®P)+0=(POP)OQ

Options :

68634031173. 1
68634031174. 2
68634031175. 3
68634031176. 4

Question Number : 95 Question Id : 6863407885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If each observation of a Row data whose variance is 4? is multiplied by A, then the
variance of the new set is

i h;ﬂ_

4. htat

Options :

68634031177. 1
68634031178. 2
68634031179. 3
68634031180. 4

Question Number : 95 Question Id : 6863407885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634031177. 1
68634031178. 2
68634031179. 3
68634031180. 4

Question Number : 96 Question Id : 6863407886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The amount of time required to read a block of data from a disk info memory is composed
of seek time, rotational latency and transfer time. Rotational latency refers to

1. the time its taken for the platter to make a full rotaion

(]

. the time its taken for the read-write head to more into possition over the appropriate
track

(e

. the time 1t taken for the platter to rotate the correct sector under the head

4. to reduce number of bits in the field of instruction

Options :

68634031181. 1
68634031182. 2
68634031183. 3
68634031184. 4

Question Number : 96 Question Id : 6863407886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634031181.1
68634031182.2

68634031183. 3
68634031184. 4

Question Number : 97 Question Id : 6863407887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
e M - — T
A 4+ B|=|4-B|| 1 B5°
B || 4xB|= 4.8 |IL JpO°
— — £ f
C.|4.8|= li 111 leos
e AB
D || AxE|= = V. |s0°

Choose the correct answer from the options given below:

1. A-IIIL, B-1, C-1IV, D-II

(]

~A-II, B-II, C-IV, D-IV

LS

. A-IIT, B-1, C-11, D-IV
4. A-II, B-1, C-III, D-IV

Options :

68634031185. 1
68634031186. 2
68634031187. 3
68634031188. 4



Question Number : 97 Question Id : 6863407887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 11 gl 11 9 faar &g
_.H:'«:aﬁl T I

—

A ||A+B|=|A-B|| L [

=
LA

< = - ~
AxB|= 4.8 | PO°

g AR
c |1.51-22 I [90°

3 " A’H
D || AxB|=— V. |60°

4

fFafafad fdedl § 4 gg! 3T &1 994 Sifou -

-A-IIL B-1, C-1IV, D-I

e—

-2

. A-IIL B-IL, G-IV, D-IV

L]

CA-IILL B-1, C-1I, D-IV
4. A-1I, B-1. C-III, D-IV

Options :

68634031185. 1
68634031186. 2
68634031187. 3
68634031188. 4

Question Number : 98 Question Id : 6863407888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The number of 1's in the binary representation of (3 * 4096 + 15 * 256 + 5 * 16 + 3) are
1.8
2.9
3.10

4. 12

Options :

68634031189. 1
68634031190. 2
68634031191. 3



68634031192. 4

Question Number : 98 Question Id : 6863407888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIS UAHTERT £(3 * 4096 + 15 %256 +5* 16+ 3) H 1's DI & &

1.8

[

9

4,12

Options :

68634031189. 1
68634031190. 2
68634031191. 3
68634031192. 4

Question Number : 99 Question Id : 6863407889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 2's - complement adder - subtracter can add or subtract binary numbers. Sign-magnitude
numbers represent decimal numbers, and 2's complements stand for
decimal numbers.

1. hexa, sign
2. sign, hexa
3. positive, negative
4. negative, positive
Options :
68634031193. 1
68634031194. 2

68634031195. 3
68634031196. 4

Question Number : 99 Question Id : 6863407889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. eI, T2
2. I, gl

3. Y-l D, BUlIHD

4. BUIHD, H1lHP

Options :

68634031193. 1
68634031194. 2
68634031195. 3
68634031196. 4

Question Number : 100 Question Id : 6863407890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given the following binary number in 32 - bit (single precision) IEEE-754 format :
00111110011011010000000000000000
The decimal value closest to this floating point number is
1. 1.45 x 10!

1.45 % 1071

]

227 % 1071

L

4.2.27 % 10}

Options :

68634031197. 1
68634031198. 2
68634031199. 3
68634031200. 4

Question Number : 100 Question Id : 6863407890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



32 - fde (Ul URedl) IEEE-754 Wied H fHafdfad darg-R{ W1 &1 dad gu:

00111110011011010000000000000000

=4 YAIlT-UlSe HB1 & [Hdedd aaHd 9 §
1. 1.45 x 10!
2. 1.45 x 107!
3327 wie

4.2.27 % 10!

Options :

68634031197. 1
68634031198. 2
68634031199. 3
68634031200. 4



